2 (simplex method)[4]

51
(2.20)
AA] = (TAAAK)(Di = AX; (AK) (51)
2 2.3
[
minimize J(AK) = Re[AA] (AK)]
subject to Re[AAt] < a

IM[AA 1] < b
AK i < AK < AK e (5.2)

AKmin ~ AKmax AK
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[7]

(trial and error)

1

2

3 (constraints) (2.20)

4 AK

1% K (2.20)
1 A AR ‘1 7

AK ,

5 AK

6 AX|

AK 5
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(dominant eigenvalue)

5.1
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Re[AAj(AK)]

ImfAXi (AK)]

5.4[L,7]
42

H=35 Kd=0 K!=0.7643 K. =0.8649 K. =03230 K. =14187

Ks =-0.1463 K, =0.4168 TR=0.02 Ksah=95 Tw=14 T)=0.154
T, =0.033 T. =2365 KA =200

511



511

K-stab
Tw
T
t2

Acor

53

30,0969
1005246607
-1.0052-6.6071

07388

-19.7970+ 228013
19.797012.8213

95
14
0.154
0.033
0

5.1
2 3

0.01 pu
5.3

1
-36.7922
-30741

9.3942+6,0825
-9.3942-6.08%5
9.3818+359%5
9.381843595

30.7434
0.5865
0.0583
0.03%
14

5.1
0.1

N 0 2
-36.2246

105808-{7.3900
-10,5808-{7.3910
£.3790+]2.96%9

-6.3790-12.9639
49775

29,7461
05071
0.0623
0.0440
62

68

51

3
1829570
2161841033
2.1618:1.0331
100475
237081 412.0653
23,7081:§12.0653

53 %471
0.8576
0.05%4
0.0052
27

A8
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A>08
¢ ;09
5.4

3
)
2)
3)

b

Re[AAt]<a a

-39.0969
a 20
-0.7388
Im[AAL] < b
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(52)
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